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Red
- HW : next Thursday
- Friday is review

,

following Monday is test

- Midterm content :

through AVL trees
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Goat : Each node will

contain a ye
dike a BST ) and a

priority ( like a heap ) .

• BST over values

• heap over priorities
# : Suppose values are names

and priorities are

integers .

Both can be " sorted
"

a

• values frames have
alphabetical order

• integers ( obviously)
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In heaps ,
we

" bubbled
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up .

Can we do that here ?

GE
"

×

¥0n*¥san
"

¥0 ?€÷
'

tag
¥90"a "

not BST

.



Well - Can't violate BST !
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Result of pivoting : insert Cx
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Clearly ,
we're still a BST !

Can T1
,
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,
or T3

be non - heaps after His ?
( Note : just inserted x
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in heap order
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Insert ( val , key) :

Run BST insert ( on data )
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Observation :

Faa step back .

What Muttthe root be ?
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Observation

Troops are unique

( Bsts tnokeapsare )
( + AVLS )

→ This is like giving
2

traversals .

Next : . remove

a run times

( randomized )


